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402 QIR 0| A 52,463 100,000 A47,537
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Al 3,276,372 2,661,019 615,353
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Al 826,949 948,930 A 121,981
301 YptE A 9,036 15,778 16,742
< 4,518 7,889 A3,371
Al 4,518 7,889 A3,371
11 JIE 242 9,036 15,778 16,742
OES=ME NN 9,036 15,778 16,742
< 4,518 7,889 ~3,371
Al 4,518 7,889 ~3,371
307 212+0| & 381,390 500,000 ~ 118,610
< 6,000 6,000 0
Al 375,390 494,000 ~ 118,610
02 21PN ES 381,390 500,000 ~ 118,610
OYHE SSLAI 381,390 500,000 A 118,610
< 6,000 6,000 0
Al 375,390 494,000 £ 118,610
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- SAJEHTY ¥ EES M 0 1,500 A1,500
p] 0 1,500 A 1,500
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ORASHEN FX 0 22,263 £22,263
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O¥A~SH=N =4 22,263 0 22,263
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A=Y AN 233,000 271,492 A 38,492
= 186,400 190,044 A 3,644
Al 46,600 81,448 N 34,848
301 LEE A Z 233,000 271,492 N 38,492
= 186,400 190,044 A 3,644
Al 46,600 81,448 N 34,848
NJIEEd=s 233,000 271,492 A 38,492
OXH=cNIHEFIN=M 243 233,000 271,492 N 38,492
= 186,400 190,044 N 3,644
Al 46,600 81,448 N 34,848
Satatel 1,739,091 1,740,966 N 1,875
= 122,325 122,325 0
Al 1,616,766 1,618,641 A 1,875
302 Ol Mol 24 = 123,450 125,325 N 1,875
= 122,325 122,325 0
Al 1,125 3,000 A 1,875
02 QIZtOITHOH 2 &f = 123,450 125,325 N 1,875
05.28 22l SFRH(FI3EEH) 123,450 125,325 A 1,875
£ 122,325 122,325 0
Al 1,125 3,000 A 1,875
gsZA=H 934,950 116,812 818,138
= 934,950 116,812 818,138
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01 ArR 22l 5,000 5,000 0
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